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SAP ABAP table TPVSO {Product Proposal: Online Procedure Determination}

TPVD

MANDT [CLNT (3)]

PVKSM [CHAR (2)]

TPVSM

MANDT [CLNT (3)]

PVSMD [CHAR (6)]

TPVV

MANDT [CLNT (3)]

PVBSM [CHAR (2)]

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]




